- CHAPTER 4
Basic algebra

Addition and subtraction of like terms

EXCELYEAR 8
Ch. 3.3, p.

Question1  Add the following expressions.

a 3x+8= b 5x+1lx=

¢ %x+7x= d 18x+ 9x =

e 16x+ 25x = ] f 30x+ ldx+x=
g 6xy+éxy= h 9mn + 11lnm =

i 15aq+16a+7a= i 8x43x+7x=

k 15a¢% + 260° + @° = L 7p+6p+5p+p=
QuesTioN 2  Subtract the following expréssions.

a 6ag-2a= b 15a-7a=:

¢ 8a1-3a= d 17x-2x=

e lém-6m-m= f 8y-3y-y=

g 15x-7x-2x= h 6xy-3xy-xy=
i 25+ 702 - 4x% - BX% = j lay-3y-y-2y=
k 8x-2x-x= L 19p-3p-5p=

QuesTioN 3 Simplify the following expressions by adding or subtracting.

a 8u+7a-3a= b bx+bx=x-2x=

C 5a+15a-6a= d 8a+5a¢+3a-2a=
e 19xy+2xy-xy= f 7mn+3nm - 2mn=
g 9x%+8x - 3x* - 5x" = h 9¢° +7d0° - @° - 2a° =
i Bx-2x+3x-x= j 8t+6t+3t-t=

k 6m+7m-2m-m= l 8a+16a-5a-T7a=
Question 4 Simplify the following.

a 9x+3y-6x+2y= b 20a+3b+8b-1la=
c 6m+3n-n-m= d 6x° - 4x* - X%+ 3x" =
e 8a+3b+2b-06a= f 10a+4a-5b-b=
a 7y+8y-3x-4x= h 6xy +3yx —xy — 2yx =
QuesTion B Simplify the following expressions.

a 15-8+7-2x= b 8m+3n-5m=

€ 18x-3y+y+x= d 28+ -7y’ =

e 10m+3n-2m-ns= f 1%y + 6yz - 13yx =
g 12a+6b-3a= h 6a+9h-3b-3a=
i 9t+18-3t-15= j 6ab+3ba+9ab=
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QuesTion B

Basic algebra

£B% EXCEL YEAR 8 MATHEMATICS

Multiplication of pronumerals

QuesTion 1 Multiply the following expressions.

a Z2xba =

€ 8X0%y =

e (-6)xab=

g 3ax(-b)=

i (-6x)x(-3) =

k (—20)x(-8a) =

QuESTION2  Find the products of the following.

a 6ax3b=

€ b5xx8y-=

e 9ax3b=

g Oyx8y-=

i 9xxX3yx2x =

QuesTION 3 - Work out the following products.

a 2axab =

¢ haxbbcxa =

e 9abx{—6bc) =

g (-8x)x5 =

QuesTion4  Find the following products.

a 8gx5bh=

¢ 9xx{-8y)xxy =

e (—6m)x{-6m) =

g yxX-yx-3ys=

Simplify the following expressions.

a B8abx(-ab) =

¢ 9xxyx(-2X) =

e (—a)x(-2a)x(-2b) =

g (-5p)x(-5p) =

Lot w

- = oo o

= = o o

= =h g o
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(-6x)x(-x) =
(-8y)x(-y)x3 =
6a x (—a}x5 =

tx(-3t)x(-2) =

5a X (—6ab) =

3xbaxh =

gbxbcxca =

bax7ap =

3XX2y Xy =

(~7k) x (~2k) =

Baxxaxax =

—6t % 4m x {—m) =

(—5x) % (-2) x (-3x) =

7x3a x(—4a) =

2ax3bx5c =
(=6)x () (=) -

6a X (—3a)x2 =




Basic algebra

EXCEL YEAR 8 MATHEMATII

Division of pronumerals

Questiond  Work out the following divisions.

ch. 3.1.2, p. 28

' ' 2
a %q - b %ﬂ = ¢ 115; -
¢« X e 2Y. ¢ 180
5 ] . 7x 3a
12a _ 36x° o, 3%y
A R . T Y10y T
QuEsTION 2 Fi'nd the following divisions.
a 15x+5x =_ © b -36xy+-9x =
¢ 12mn=+4m = ' : d 64m°+8m =
e 5x+-5-= f (-48ab}+(-6a) =
g 8x+2x = h 72d°+9%a =
i 32xy+8x = j 15ab+(-5a) =
k. 27ab+9a = [ 16x°y+4xy =
QuesTioN 3 Divide the following algebraic expressions.
a (-24)x+8= | b (-6ab)+3a =
¢ 38x%y+19x° = d (-15x")+(-5x%) = .
e 27x°y*+9x'y = | £ (-16k)+(—4k) =
¢ (5xt)= (1) b (263 -
i 20pq+~4p = j 50mn-+5m =
Questiond  Si mpﬁfy the following.
a 28x+—Jx-= b 68xy+4xy =
¢ 32x"+(—4x) = o d (~18x)+9x =
e (-30x)+(-15) = | f (—48m’)(-8m*) =
g (-25y")+(-5y) = ] h (~64ab)+(-8a) =
QuesTioN B Find the answers to the following. 7
a 24ab+(-6a) = b (~24x3 yz) - (~6x2y2) =
¢ 15ab+-15ab = d 36xy+4x =
e mn®+mn+n= f 15a°0® = 15abc =
g 3abc+bc+ba = h

(60t (30) =
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Basic algebra - P

F Ch. 3.1, p. 27

Multiplication and division of pronumerals

Question 1 Multiply the following.

a 8ax2a= b 5ax4ax3c¢ =
¢ 5ax3a-= d 240" x4ax3a =_
e 9xx(-3x) = f 6ax3ax{-2a)=
g 15xyx3x%= h 5yx(-3y)x(-y)=
i 8ax3bx4g= j 8x%xa’=
k abxa*x3a = - | 3abx3abxab =
QuesTioN2  Divide the following expressions.
a 15a+3aq = b (~72a)+(-8a) =
¢ 60p+10p = d 50ab-+2ab =
e 8pq-(-4p)= f 35x%+-5x =
g 16ab+(—4a) - h 280% «(~7ab) =
i 20p+5 = j 64x7y*z" +16x7yz -
k  (—10x)+(-2x) = _ L 8imn+(-9m) =
QUEéTlON 3 Work out the following divisions. X
a (—27x2)+(3)_;2) = b 15ab+(-3a%) =
¢ 16xy +(—16xy) = d 35a%°* +5abc =
e 24ab+da+2b = f 56t +8t =
g 48x%y%+ 4xy +3x = h 10ab+-2a =
i 15Xy +6XY = j 150b-c +-3bc =
QuesTion 4 Simplify the following expressions.
a 5gx—3aq = ‘ b 4axshx2c =
¢ 8xx(-7x) = d —8ax3ax—2a =
e 150 x(-2ab) = f 10xx2yx(-2x) =
9 180° x2ab* = h abxa®® x—ab =
T 8xxyxy'= j —Bxx3xy =
QuesTion S Simplify the following.
. Bxx9y  15ax8b _ | . 8axsh _
12xy _ ' 10ab 3a X 4b
(6ab)’ x ab (3a) x (4b)° (-2x)x (-3) x (-5x)
T ¢ ——— T ks T
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u Basic algebra

EXCEL YEAR 8 MATHEHA

; N ,- Ch. 3.4, p. 33
| Indices ’
F : :
: Question®  Simplify the following products.
: a azx"a3= b GPZXP3= . c y3Xy8=
. d m’xm*= e 8a°x4a’ = f X' xx°xx’=
| g x°xx'=  h 9*x8d = i 10p°x8p° =
F 8 e x1? k a'b*xa’t® = [ 9x¥x4x°y" =
QuesTion2  Simplify these divisions. 7
- a a%+a®=_ | b 36m®+9m* = ¢ 200°h" +5a’h® =
. d o +q = e K°+k"= f 12a%° +6a“b* =
g a®+a’= _ h 48¢" +12a° = i~ 36x2y® +(~4x2y7) =
i m®+ m’ = k m*n®emin® = { 64a°° +8a°" =
‘ QuesTion 3 Simplify these expressions.
3 : 4 2
- o (1)- Y
] d (mﬁ)2 - e (x3)7 = : f (Qa.'f;vz)3 = _
] g (x's)4 = h (402)3 = i (5m4)3 =
g p
;@) . o - (o) -
' QuesTion4  Use index laws to simplify the following. ~
a o =_ b (2x) = ¢ 9x° =
: d m*= - e (3x2)0 = | . fF 24 =
g x°= h (4mn)° - | i (54:1)0 = o
QuesTion B Simplify the following.
> a x%+x'= b ptg*+pig = ¢ a ><(c13)4 =
gl : . )
| d m°xm*= e _(sz)z = f X (x2)3 =
g 6x*x5x = h 9m*xmn = ' i (3){2)'3 +0x* =

QUESTION®  Use index laws to simplify the following.

a 3(0"‘)3 x 4a° = b (Zab2)3 +4{ab) = ¢ a%+a’+d’ =
f o (5a2)2 +hgd = e (8a) +(4b) = ' f 15abx3axb =
i g ()(5)2'+x7 = | h a’bxa’bxab = i 28xly+7x = |
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Basic algebra

EXCEL YEAR 8 MATHEMATICS

Grouping sym bols

‘g

g

T(n—4)-2(n+2) =

EXCEL ESSENTIAL SKILLS: YEAR 8 MATHEMATICS REVISION AND EXAM WORKBOOK 2 — EXTENSION

Ch. 3.6, p. 36

QUESTIO& 1 Expand the following expressions.

a 3x+y)= ' b 5(2a+3b) =

¢ 42a+3) = d 6(8a-7b)=

e 8m+3p)= f 3(5a-4m) =

g 5x(x+8)= 7 h 7(x-5) =

i 9a(a-2b) = j 12(2x-3) =

k 6m(2a-+n) = [ 15(3x—7) =
QuesTion 2  Write these expressions without grouping symbols.

a -3(x+2) = b -5x(2x +1) =

¢ 2ex-7) = d —2x(8x ~3y) =

e -—3(4x-5) = f —y(x +y2) =

g ~8(8x-9) = h —m(3m+8) = _

i —2x(x+1) = j —2n(8—5m) =

k —3x(2x+5) = L —6t(2t —3) =
QuesTion 3 Expand the following expressions.

a 5(2x47)= b 7(3x—11) =

¢ -3(4x-9) = d —4(2x+5) =

e 8(6y+3)= f -3a(5a+5) =

g —x(2x+7) = h —m(8m—5} =

i —2t(3t+5) = j 8a(2a+3b) =

k —8x(3x-5)= L 6’p(2'p —3m) =
QuesTion4  Expand and simplify.

a 2(x+3)+5x = b 4(y+3)+7y+5 =
¢ S5(xy—7)-3xy = d 9(p-7)-8p—7 =
e 4y(y+3)-2y° = Fo8x-3(x-2) = _

9p-3(8-p) = h 5m-+4(m—4) =

i 9m(2m+1)—10m* = 7(x-5)—3x+9 =
Kk 8(t--3)-3t = 6(x +8) —3(x —2) =_
QuesTioN®  Expand and simplify. _

a 4m+3)+2(m+1) = b 5(x+3)—3(x—1) =
c 82x+7)+3(x+2) =- d 8(2x+7)—4(2x~5) =
e 5(y+7)-2(y-1)= f 9(3x+1)-5(2x-3) =

h

x(2x+3)-3(x+1) =

41




a mn= i b mnp=

c mn+p= ‘ d mtn -

e mnp’= f mt+nt+p’ =
g mEntp = h 7Tm—p=

i m’-5p= j m+10+p =
k mrnzp —mn = ) [ 8m’-12=

a . 6 -ab= ' : b @+t +c=
¢ abcd= : d ab-cd=

e BP+cf-at= : f *-5=

g o6ab+7bc= h 2+b-cd=
i 3abc+d=

Basic algebra

Substitution

QLJESTlON 1 Ifm=7,n=4and p= 12, evaluate the following.

QUESTION2  If a = 4, find the value of the following expressions.

a bsa+7 =, b (a—5)2=

¢ a—9- d 85-4a=

e 3a(a+4)= f 50°+8=

g 5(a+6)= h @ =

i 25-q2 = j 3(2a+7)=

k 3= ' L @+ 7)a- 7) =

QuestTion 3 Ifx=7.2, y=3.5 and z = 6.4, evaluate each expression correct to 1 decimal place.

a Xx+y= : - b x%y+2=

€ 2X+2y+2zw d Xy -2

e (x+y)= 7 : foayz= —
g X+x= . h «/@“

i (x-2)+y= jodx+y+z=

k x-2)+8= : L %{“=

QuesTiond Ifg=3,b=4, c="5andd=6, find the value of each expression.
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Basic algebra

Common factors

4 EXCEL YEAR 8 MATHEMATICS
¥ Ch. 2.7, p. 38

QuesTion 1 Factorise the fotlowing by taking out the highest common factor.

_ a ITx+7= b 10a-2= c 7y+ 4=
B d 8x-4=__ e 3a+15= Cf ax-12y=
B g 3y+3-= | h 5m+30= i 32x-28=

j 5a-5= k 6a-2b= L 5a+35-=

QuESTIONZ2 - Factorise the following.

B a Yy +3y - ' - b 6y°—-3y° = ¢ 6x°—3x%=
d 2m®+6m = e 8a°—4a= f m*—om =
g 8a°+24a = h 15y% 6y = i 16a°—8a =

_ i X 40x = k 9¢°-6a° = . [ 28x*-7x =

- QuesTiIoN3  Factorise the following by taking out the highest common factor.

_ a —3x—3= : b -4y*+16 = ¢ —6n—3=

_ d —5x—40 = | e —3x+27 = f o 7t-14 =

_ g -2m’—4=_ - h —5m® 435 = ‘ i -1 -22 =
j .—6a°+12 = ok -8af -3~ L 13y 439 =

QuesTioN 4 Factorise,

: —6x% —12x = | b —16x% —4X = ¢ —6x—9 ==
- d -8xy—4y = e —9x° +27x" = ‘ f —15x% =5xy =
- g ~bmn-3= h  —5x°y" +25xy =7— i —6mn+15m° =
- j Bxyztdxy = k ~9x? 15K = L —x-3yx =

- |  QuesmonS  Factorise the following.

_ a 8a+16b = b 5¢-25 = C 8x—4y=
d 9-9b = e 8-8t= f m—4m® =

B g 16ab—a’ - h 14m—7 = i 16ab—8a% =
j 15x7y? —5xy = k —6m—236= I —4m-—12n =

~ QuesTION®  Factorise the following.

- a 3a+3b+3 = b 16pg—7p = ¢ —xtP—Tx =

B d 8x+8y—16z = e tx.~x= f 15 +56-10c =
g 4x—8y = - h yP-y= i 18x—9y+6 =

) j 16x—32y = k 15mn—3n = [ 6a°+3a+9 =
m i’ —2mn = n .8pq—q2= 0 —6x—6xy—12 =
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ch. 3.5.1, p. 35

Basic algebra |
Addition and subtraction of algebraic fractions

QuesTioN®  Find the sum of these algebraic fractions.

i . p L2 o X B
: T g g —— 5 5 T 15 15
a a X X y. ¥
d 4o = R fo=+==
979 T & 777 6 6
X x a  2a . 3a a
g —+=>= _ h —+—-= i —+—=
3 4 ' 9 7 72
: . 3x 5x 2m  5m 20 3a
i ] —+ = k —_— T = 1 —t =
5 7 3 9 5 7
( QUESTION 2  Subtract the following algebraic fractions.
, 2a_a_ b BX_ 3 _ . 1y 5y _
6m 2m 5 8x 3x
g Sm_am_ e b _ ¢ Bx 3
13 13 24 8 15 15
: X X
g XX hoXoX Py
i 3 7 8 12 12 18
: . 3X  x K 2a+l a l 5x+1  x
' %2010 7 14 i 12
g QuesTion 3 Simplify the following. .
; 3x b5x X X : X X
X a —+— = h ———= c -t =
2 3 4 5 2 4
d iﬁi_ e £+5i= f 3_X_1=
8 4 2 6 4 12 _ o
2x | x DX X o oTx,x
9 973 8 12 10 25
. bx  x 5 x x m Im 2m
j ——-=-= k ——+—= [ —+——-——>=
24 36 8 4 16 10 5 25
Question4  Find answers to the following.
8 .
; g 3 2 4 8
8a a T
o m,e ¢ T
: 15 30 10 5 15
| . 81, 3a_ g bm, m _2m
! 7 14 7 7 14 21
8 2
g SX_x, o h Om Sm_m

9 3 15 2 4 16
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Basic algebra

EXCH, YEAR 8 MATHEMATICS

Multiplication and division of algebraic fractions =

QuesTtion 1 Find the products of these algebraic fractions.

a a ) X
- 33X b 5x5 -
a 3
— | st e T
5x 15 ' x 25
J— g —? E)—(—: . - h 'g--;(-é-=
2%y ab 16
- byt “ T

QUESTION 2 Divide the following algebraic fractions.

o m m v 3y
—_——— = b —_——_—— =
P 7 14
B 4 X o 2,16
3 5 non ;
— z . 2.2
g .90 h XYL
6 12 9 27
o 50 164 6a 5a
i o= k —+— =
7 8 11 3
QuesTioN3  Simplify the following.
2x Ix 8x 16x
a ZxSo b s~ =
578 13 26
] g 9.4 o Jo_ 27
5 9 10 20
15m _16m _ p ba,6a" _
- VARV s 10
1y ab_ ab
I %57 10 20

QuesTion4d  Find answers to the following.

6mn m’ m m
a —+—= b —+—=
_ 15 20 8 32
g 3m, 2mm mn®  m*n’
——— = e bl
~ 4 16 6p°  12p
@ Lo
B 9 2 g c a

N
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Basic algebra

Problem solving and algebra.

. EXCEL YEAR 8§ MATHI
Ch. 3.8, p. 38

Find the perimeter of each of the following shapes.

1 - 2 3 3x
X
3x+5
3x+2
Find the area of each of the following shapes. )

4 ' S B ¢ o0

5x+7 1 1lay + ol
1 \ []
1, - 3x-5

7 Find the sum of 3x and 5y.

8 What is the product of 8m and 5n?

9 Find the average of 6x, 2x and 7x.

10 Find an expression for 5 more than the sum of 3 and 2x,

11 Find the area of a square with side length y metres,

12 If the first number is 4x, write the next consecutive integer.

.13 Increase 9x by 10 and then decrease this result by 2x.

14 Find the volume of a cube with side length 2x cm.

15 Find the number (x - 2) less than 4x + 5y. |
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.| Basicalgebra |
InStructions » This part consists of 15 multiple choice questions
- « Fill in only ONE CIRCLE for each question.
: « Each questionis worth 1 mark )
~+ Calculators may be used
Time allowed: 15 minutes _ Total marks = 15
: ' Marks
1 Ifg=-4andb =3 the value of a®% is
@ 48 ® 144 © -2 ® -48 1
2 d+ai=
@A o ® o © 2 O 2¢° 1
3 158 5=
® 3¢ 32 © 100 ® 10¢ - 1
4 2ax3ax4a= '
@ 9a 9a° © 24a ® 240 _ 1
— ; 11 \
5 —+—=
g x ¥
1 v 7 X
_ _; 1 y X 1
— 1 6 x-(n-=
" @ 3 3x © 3 ® -4x 1
n T 3y -2y +5y+4y*=
® 79 +3y ® 7y2-7y © 7v+3y © 74~y !
8 78 x (-4 =
o @ 3¢ 3t © -2865 © -28t5 1
] : _
9 3x+4)-x= 7
= & 12 C® 15 © 2¢+4 ® 2c+12
_ | 10 (4= |
’ ® 40 4 © 16 O 16¢ , 111
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12

13

i4

15

2ab

@ 3ab

3ab—b+ab - 2b =

@& 2ab-b -

® »

-
yieyt) =

® v

B 2ab - 3b

B s

The correct factorisation of 2ab — a is

@ 2afb - 1)

2a(b - a)

© 4ab-b

@ x12

© a(2b-1)

. 6
©® 3
(D) 4@ - 3b
O
© vy
O a(2b-a)

Total marks achieved for PART

-

48
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Basic algebra

TOPIC TEST

Instructions < This part consists of 15 questions .
¢ Each question is worth 1 mark
s Write answers in the 'Answers only’ column

Time allowed: 15 minutes

PAF

Total marks = 15

Questions

1  Simplify 3y -4y -y

2 Simplify 6a’>x a

3 Facforise 7x + 14y

4 1f§=11 find x

5 Expand 3x(2x - 5y)
6 Ifa=3,b6=-2andc=0, find the value of 3¢ + 2b - ¢

Simplify the following.

o
7 X—XZ |
8 (30"‘!))2-
9 49x?

10 36m® -12m°
8a 3a

11 222
9 9
12 3x+5+£
4 4
13 ﬂxi
3 xy
14 4.9
5 10

15 3(a—4)+ 4(a+2b)

Answers only

Total marks achieved for PART B
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Basic algeb_r_a- I
TOPICTEST . P

Instructions e« This part consists of 4 questions
¢« Each guestion is worth 5 marks
+ Show all necessary working

Time allowed: 20 minutes Total marks = 2

1 Ifa- 2, b =-4and c= -6, find the value of each expression,

a abc : b 5(a+b+c)

¢ 5qb? ' d 3ab+ 2c

e #+b-7

2 Simplify.
a -7a+6a+ 4a ' b 6a+5(3-a)

¢ -8Ra+3b)+a __ | d 2.2

3x2_x

5 17

3 Expand and simplify.

a W-3(x+05)
b x(3x - 2} - 302 —X)
¢ 25-(x+17)

d -9x-y)+3(2x~-y)

e -6{a+2b)-2(b-a)

4  Factorise.

a 3x-x b 3p% + 12pg®

¢ Solve 3x—-1)=6

Simplify the following.

d 5p*xq’ xpg
15a3b2; 25ab
e 8GC2 (2(:)2

| Total marks achieved for PART C
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Answers

12 $23072 13 $426.67 14 300 15 $375 A
Paces 32 & 33 1D 2C 3B 4B 5D 6C 70 8C 9D 10A 11 ¢ 12D 13 C 14 B 15¢C

22
Pace 34 19 2 162 3 750 4 93 5 198kg 6 817 7 60% 8 74% 9 375 10 99.36 11 12 12 % 13 90

14 B 15 900
50

_ ‘ : 11
Pace 351290 b6 c52 d340 e 165 2 a140cm b $221 c 45051 d 2.94h e 105 3 a -, 0.55

17 ' 1 o - '
b >5.85% c 1250%, 125 d -, 0.0625 e 60% 0.6 4 a 48% b 25% c 124% d $312 e $54

PaGe 36 1 a3 11x b 16x ¢ 16x d 27x e 41x f 45¢ g l4xy h 20mn i 38¢ j 18x k 422> 1 19p 2 a 4a b 8a
¢S5z di5x e 7m f4y g 6x h 2y §22¢ j8 k5x | 1lp 3 al2¢ b 8 c 140 d 140 e 20xy T 8mn g 9%x*°
h 1322 § 5¢ j 16t k 10m | 12 4 a 3x+5y b 9a+116 c 5m+2n d 4 e 2a+5b f l4a~-6b g 15y -7x h 6xy
5a22-10x b 3m+3n € 19%-2y d 1°-7y° e 8m+2n f 6xy+6yz g 9a+6b h 3a+6b i 6t+3 j 18ab

PAGE 37 1 a 100 b 18 c 72y d 2y e —6ab f 6a g -30b h 6ab i 18¢ j -45a°h k 16a®> | 12¢* 2 a 18ab

b 6x* ¢ 40xy d 24° e 27ab f -30g% g 482 h 682 i 54xty j -30a%h 3 a 2¢% b 90a c 30a%hc d a®?c e -Béab’c
f42ap g -40x h 6x® 4 a 40ab b 1482 ¢ -7287 d 8’ e 36m® f 24m g 3y h 308 5 a -80%* b -844°
¢ -18¢% d 30abc e -4a%h f. -x%y g 250 h -36a° :

Pace 38 1 230 b3pg ¢ —— d3x e3y féa g2a h9xi;2a3 b4 c¢3n d8m e —x f80 g 4

5m
h 8 14y j-3b k3b Ldbx 3 a-3xb-2b c2y d3x e3y f4 g4 hizy 1-5¢g jion 4a-4 b 17
ab 3
c -8 d-2 e2x fém g5 hsgb 5a-4b bidx c-1 dy E1f?93 h 2x

Page 39 1 a 160 b 60a% ¢ 15a2 d 288a° e -275 f -36¢> g 45 h 159 1 %6a%b j 724 k 3¢*6 | 9a'F°

: —~5b
2a5 b9 cb d25 e-2g f-7x g-4b h-4a i4p j4yz k5 1 -9n- 3 a -9 bT c-1 d7abc e 3
5 .
f7t g 4y h -56 i E j ~5a 4 a -15¢® b 40abc ¢ -56x° d 48¢° e -30¢%h f -40¢% g 36a°b2 h -a'%* i 8x/°

10 :
j~15% 5 a6 b1z €3 d 44° e 6ab f —x

Pace 40 1 aa® b 6p° ¢y dnf e 320 £.x° gx? h 728 i80p" j«° ko L36xy° 2 aat b4’

cdab d o e K f 20 ga® h 4 1 -% Jw” k mn® | 8¢ 3 a o® b y? cbixy dm® e x

f729¢3%° g x* h-64a® § 125m™ § o® k 8lp* L1000%° 4 a1 b1l c9 dT el f2 g1 hi11i1
P 4a°

5ax bpg ca* dm® e64p* fx* g 308 h9mfn 3¢ 6 a12a? b 2ab* c® d % e b_2 f 450°h?

gx* ha®® idxy B .
Page 41 1 a 3x+3y b 100+ 156 c 8a+12 d 48a-42b e 8m+24p T 15a-12m g 5 +40x h 7x-35

i9¢°-18ah j 24x-36 k 12am+6mn | 45x-105 2 a -3x~6 b -10@-5¢ ¢ -4x+14 d -167 ¥ by e -12¢+15
fxy-y g -64x+72 h -3m*-8m i -2¢-2x j -16n+10mn k —6x*-15x | ~12£+18t 3 'a 10x+35 b 21x-77

€ -12x+27 d -8x-20 e 48y+24 f -15¢°-150 g -22-7x h -8m*+5m i -6 -10t | 160°+ 24ab k -24x* + 40x )
L#2p*-18mp 4 a 7x+6 b 1ly+17 ¢ 2xy-35 d p-70 e 2¥+12y f 5x+6 g 12p-24 h Im-16 i 8w +9m '

"f 4x-26 k 56-24 | 3x+54 5 abm+14 b 2x+18 c 19x+62 d Br+76 e 3y+37 f 1ix+24 g 5p-32
‘h.2x*-3 -

Pace 42 1 a 28 b 336 ¢ 21 d 784 e 4032 f 209 g 23 h 37 i-11 j71 k 1316 | 380 2 a 27 b 1

c7 d63 e 9 £33 g50 hes &3 j4s k48 U-33 3 a 107 b 17.1 ¢ 342 d 23.13 - e 114.49 f 483.84
g 425.088 h 50 102 j41 k88 139 4a138 b50 c360 d 18 e 32 f11 g 212 h -5 1 30, 7
Page 43 1 a 7{x+1) b 2(5a-1) ¢ 7(y+2) d 4{2x-1) e 3{a+5) f &4(x-3y} g IHy+1) h S(m+6) i 48x-7)
jsa-1) % 23a-b) L5@+7) 2 aply+3) b 3p(2y-1) ¢ 32(2x-1) d2m(m+3) e 4a(2a~1) f m(m-9)

g 8a{a+3) h 3y(y-2) 1 8a(2a-1) § x{(x+9) k 3¢*(3a-2) | 7x{4x-1) 3 a -3{(x+1) b -4{y*~-4) ¢ -3{2n+1)
d -5(x+8) e -3(x-9) f-7(t+2) g -2(m*+2) h -5(m*-7) i-11(€+2) j -6(a®-2) k -8(a®+4) | -13(y-3)
4a -6x(x+2) b -4x(4x+1) ¢ -3(2x+3) d -4y(2x+1) e -9¢(x-3) f -5x(3x+y) g -3(2mn+1) h -Sylxy-5)

i -3m@2n—-5m) § -bxy(2z-1) k -3x(3x+5) | —x(1+3y) 5 a 8(a+26) b 5a-5) ¢ 4(2x-y} d Ha—b) e 8(1-1)
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Answers

f m(m-4) g a(16b-a) h 7(2m-1) i 8ab(2-a) j Su(3xy-1) k -6(m+6) | -4(m+3n) 6 a 3a+b+c}
b p(16g-7) ¢ —x(x+7) d 8(x+y-2z) e x(t-1) f 5(3a+b-2c) g 4(x-2y) h y(y-1) 1 3(6x-3y+2) j 16(x - 2y)
k 3n(5m~1)7 E3(2a®+a+3) m mm-2n) n gBp-¢) o 6x+xy+2) -

: X 17 | 2a 2x y 7x 25 . 13a , 4b6x 1im 29a a
i Z kit = = 2 I hivatad == = = 22 o4 &
P‘,AGE 44 1 a . bx ¢ 15 d 5 e f 3 95 h o 13 9 t 35 a 3
2x 10y 4m P X hx X ¥ X 3a+2 14x +3 19x X 3x
A A - 3a — b o ¢ —
bo ey 413 ¢ 397 "l in K T 7% 20 ¢4
-x 4x 2x 5x 9m , 37x | 13x Tx 71m 5p 45y t7a 19x 19a
d 5 e5 fo a5 bhom bt doy kg oy day b 30 30 ¢ 14
smo 3 %
AT 16
. a ¥y om P e _3m - .1 5 2y 4 1 5 2
Paeds 10 L p X ™ 47 oL s g2 p i =32 k21— 2a>0b=
1 Pyt bty ey Ty 9y i iy kg L 2 3
TS B IV SN i L
% %% * 1 "0 9 el fss e T Cw Y0 %3 Va9
25 3y ox 8 4 ¢ . 4 2 3y b c 12
25 3 X & 4 ¢ 4 2 .3y b ¢ 12
h g i i k 20 1 ¥ 4 a o b — ¢ 5 d 9 e mp f 4 g - 7 ]xy

Page 46 1 8x+4 2 12x 3 12x+10 4 5% +7x 5 9x* 6 6xX—10x 7 3x+5y 8 40mn 9 5x 10 2x+8 11 y¥m?
12 4x+1 13 7x+10 14 8%cm® 15 3x+5y+2 '
Paces 47 & 481 A 2D 3 A 4D 58 60D 7A 8C 9D 10D 118 120 13 B 14 ¢ 15¢C

: ) . 5a 4 +5
Pace 49 1 -2y 2 6a° 3 7(x+2)) 4 x=44 5 6¥-15y 6 5 7 6x B8 '9¢0® 9 Xx 10 24m* 11 5 12 y

133 14 8 15 7g+8b-12°

) 4 61
" PaGE 50 1 a 48 b 40 ¢ 160 d -36 e -16 2 d 3¢ b o+15 ¢ -150-246 d - e ?5{ 3 a6x-15 b x-

c8-x d-Ix+6y e -4a-14b & ax(3-x) b 3pglp+ig) ¢ x=3 d 5pF e %(%b .

Page 51 1a 1:2 b 1:3 ¢ 13 d 16 e1:7 f1:12 g 1:9 h 1:8 i 19 j 14 k15 [ 139 2a513 b13

c 13 d 219 e 1:13 F2:21 g 2:9 h ©13 i 314 j 211 k 2:15 [ 49 3 a 1:3:5 b 31 ¢ 916 d 34 e 15
f51 g13 h57 {613 j56 k121 | 1:55 4 a 421 b 415 ¢ 16 d 225 e 34 f 17 g 825 h 23 i 5:2
j45 k1001 [ 54 5 a6:25 b 115 ¢ 5:18 d 311 e 7:18 f 81 g 57 h 7:8 ‘

Page 52 1 a 20kg, 160kg b $10,$35 ¢ $168, $672 d $300 e $800 2 a 25cm ‘b 15 ¢ 40°,60°, 80° d 16:25
e 9 3 a28m b $36,%$60 c 3:10 d $1200, $1600, $2000

Pace 53 1 a 80km/h b $20 ¢ 51 L/min d $7.95 2 a 1 b 960 ¢ 3600 d $300 e 1800 f 0.6° .

32 8kn/h b 108km ¢ 48.6L 4 a 25km/min b 0.027 km/s ¢ 136 5 a 168.75km/h b 258 mjy ¢ 37

Pace 54 1 3 1:1500 b 1:200 ¢ 1:30 000 d 1:5000 e 3:500 f 1:40 g 1:30000 h 3:10 i 1:8000 2 a 1m
b4m ¢ 6m d50em e 70cm f 2km g 60cm h 8 cm i 1.5km 3 a 4m b 100m ¢ 8km d 75m e 93km
f 23.45km g 9m "h 15.2km 1 48.25km 4 a 6cm b 7om ¢ 13.8cm d Q.5cm e 50cm f 39.65cm

5 a48mx56m b 0.58m :

Y ' : ! ~ : ’ i
Page 55 1a s boyes ¢ seediagtam d y=x+1 2a y=2x+1 b (-1, -1),
T T A T . x |-1| 0 1
BAEE P e o B * Y =1 1 3 5

A ,
_ s T _
(0, 1), (1, 3), (2.5} ¢ dyes: 3 a . . b right-angled triangle ¢ 3 units d 4 units
",ﬂ,,,j“ * ~~---,.u1r x ' .
AWM
N +
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